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Find the value of x. X. 4ad 22

O3S Ol (5 st 8N
dalata 3a=al) L g )

saclall Ll g5 (gas) ulid
_180-80

2
= 50
6x + 8 = 50
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The two triangles in the figure ol sLial Jeid & ol
below are similar. X 4a8 aa

Find the value of x.
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|i" The longest side z1s Jaki Q.3

https:/ e Jed4XCron8

https://youtu.be/y3Ue4X i, a triangle, the ratio of the 2:2:3 &l b pdal) Jshf du 31s
measures of the sides is 2:2:3 and  xl& Jokl Jsh 2 .392 cm gsbey 4haas
the perimeter is 392 cm. Find the NPV R
length of the longest side of the

triangle.
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Determine whether the dilation from A A e (2l A sas S 1) Le das

A to B is an enlargement or a ol bl lalaa dag ¢ bl f‘i = a2 B
reduction, and find the scale factor +(22alh) )

Scale factor _wlgadl Jolzs 1.5

of the dilation.

3 Jalaay s
enlargement by a scale factor of 3 .

2 Jalaay pheas
reduction by a scale factor of 2 N
. .

%dﬂ‘-ﬁ-ﬂfﬁeﬂ

1
enlargement by a scale factor of 2
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In the diagram shown, ACDF~VWYZ . &8all Jeil 2

ACDF~VWYZ. Find y. Y
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JH is a midsegment of AKLM. X 4ad 23 AKLM <iais » JH

Fil'ld th& \fﬂ'l.lE Df X, Midsegment of triangle ool vdnen (0.8
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In the figure shown, AABC~AFDG. .AABC~AFDG 3l Joi) dé

Find the value of x, X Aad i
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Find the values of x and y that ropiiliata A% Juet Sy g X A aa
yield congruent triangles: ABCD = ABCD = AWXY

AWXY.
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IfAD =18, AB =8, andAE =12, AE=12 sAB =8¢AD = 18 513
find BC. BC =

C
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Identify the type of congruence Ll Gt Leat gel aaa

transformation shown.

s
rotation

e e e e T R T e T o T BT T
<o

reflection

(<]
O
S

==

sl

translation

-

dlas

dilation



https://youtu.be/y3Ue4XCron8

https:/ guid Je4XCron8
https://youtu.be/y3Ue4XCron8

Determine the pair of triangles that Sgaliiall pf B zg) daa

are not similar.



https://youtu.be/y3Ue4XCron8

AR leda W01 14

https:/ guid Je4XCron8
https://youtu.be/y3UedXCroi

Find x in the figure shown. (Bl Jei B X aagl
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Missing coordinates Glageall ldlad 1015

Find the missing coordinate of Sin olidl Elial) A s § Sl

the triangle below.
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H AWKXY = AJKI
J AWXY = AlJK
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F H ED = DB




el

https://youtu.be/y3l B P AABC.BD el = 27
CD=5x—=1,AD =3x + 5 yl8 )3




el

https://youtu.be/y2l1,4XCraonR
4:7.10 ol Jlybs! o i) il Ll * 28
S ) o sy 40 €M el Jybo

.

F 3/ cm H 84 cm
G 43 cm J 168 ¢cm




el

https://youtu.be/y3Ue4XCron8
ol LAY LaLS Gud JLI e B ebsl JS20) Lo S0 L3
CAGIK = AHIG

G

H /

A LGKI = £LHGI]

Hl Gl
B =g

GH GK
- ey =

D IGK = £LIHG




el

https://youtu.be/y3Ue4XCron8

1815,all eplita Ll cnili .4
30° Lgusli® 3usly dgly Legen JS5 plald plilis F

45° Lpuld 5uslg angly Legin S Ll plilis G
o) Lgluca olilis H
£a ¥ Loluse glile J




el

https://youtu.be/y3Ue4XCron8
e g LS milaliued! sasy g gb e ob® e 3y .1

"?E;.:'r,.lJ Eﬂﬂj ,l_p‘,..:.” gt Lo mlaglayd) olia P‘..’i..‘iq.Tu.a.uL}
A5S5m C /m
B 6m D 8m




el

https//yca. I~ /O |,./|\1I/r~...,..,..o
Jsall Jra¥) cawagll e AN




el

https://youtu.be/y3Ue4XCron8

Hor L) Clollaa ) e () Labia) JISEY) ) 2 4




el

https;//ymlhl he /2 1edXCrant




el

https://youtu.be/y3Ue4XCron8

Saoia 302 rpaaliiog Bisag sttt ubad! Jalaa gl 7
o)) et s Led 2T m LS8 O sad) et
¢ sl




el

https://youtu.be/y3Ue4XCron8

sl il ; Caal
B )yl el
2020-2019




Angles of Triangles ol Llg; :Q.1

https://youtu.be/y3Ue4XCron8

65
Find the value of x. X. 4ad 2
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The two triangles in the figure L lgebia sl Jeal) 8 laka)

below are similar. X 4ad 2

Find the value of x.




gﬂ'i“ The longest side gia Jakl :0.3

https://youtu.be/y3UedX i 1 triangle, the ratio of the 2:2:3 e b g3 Jobl G 43 67
measures of the sides is 2:2:3 and  ala okl Jsh 3 .392 om ssbew 4daiaag
the perimeter is 392 cm. Find the Lalal) Yo &,5
length of the longest side of the
triangle.
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69

Determine whether the dilation from A s (2aad) A s oS 1) Le saa
A to B is an enlargement or a ol bl lales dag ¢ pial .‘J =< 2 B
reduction, and find the scale factor (2aaih) da )
of the dilation.

3 Jelaay s
enlargement by a scale factor of 3 "
2 Jalaay pheas
reduction by a scale factor of 2 i

> Qs s

enlargement by a scale factor of%




. Similar figures agldusil Clelasll Q.6
https://youtu.be/y3Ue4XCron8 .
In the diagram shown, .ACDF~VWYZ (38 Jeil &
ACDF~VWYZ. Findy. S
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Midsegment of triangle vuliall i éase 108

72

JH is a midsegment of AKLM. X Aad s AKLM ais & JH

Find the value of x.

Midsegment of triangle Culiall viais :Q.8
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73

In the figure shown, AABC~AFDG. -AABC~AFDG « 3@ Js&) 2
Find the value of x. X dad aa
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74
Find the values of x and y that POl Spi%a et Sl y o X a2
yield congruent triangles: ABCD = ABCD = AWXY
AWXY.

X

2y —5
77°
w

'-.‘---.1
B
B
RS

1411
‘=

I
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75

IfAD =18. AB =8, and AE =12, (AE=123sAB=835AD =18 ;s1}
find BC. .BC =
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76

Identify the type of congruence plA) ) Leat pol daa

transformation shown.

s
rotation

k)

-
B

B

reflection

o

iay

translation

n

dilation

!!



Determine the pair of triangles that
are not similar.

va
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Mbdes Clele 00 14

Find X in the figure shown.
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79

Mzsing coordinates lepoeadl <A o0 (0,15

Find the missing coordinate of Sin ol Gl & Jogaall S Alaa) a2
the triangle below.

4y sf2, L)

3a

E‘ A(0,0) V(6a,0)
“ o
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